pr < 0.8 GeV/c

0.8 <pr <1.2GeV/c

pr > 1.2 GeV/c

/s = 0.9 TeV

25<n<3.0
3.0<n <35
3.5<n<4.0
4.0<n<45

0.481 £0.008 £ 0.139
0.363 £ 0.004 £ 0.066
0.433 £ 0.007 £ 0.086

1.831 £ 0.039 £ 0.822
0.779 £0.014 £ 0.073
0.709 £ 0.012 £ 0.055
0.865 £ 0.021 £ 0.097

0.855 £ 0.020 £ 0.119
0.851 £0.019 £ 0.084
0.799 £ 0.021 £ 0.076
1.067 £ 0.045 £ 0.200

5 =17 TeV

25 <n<3.0
3.0<n <35
3.5<n<4.0
4.0<n<4.5

0.465 £ 0.008 £ 0.111
0.398 £ 0.004 £ 0.067
0.379 £ 0.004 £ 0.068

1.051 £ 0.020 £ 0.204
0.660 = 0.009 £+ 0.039
0.593 + 0.006 £+ 0.031
0.671 £ 0.009 £ 0.046

0.705 £ 0.009 £ 0.046
0.682 £ 0.007 = 0.038
0.659 £ 0.007 £ 0.037
0.744 £ 0.011 £ 0.069



